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Maximum  :  50 marks
Answer ALL Questions
PART - A (5 X 2 = 10 marks)
	Q.NO
	Questions
	Marks
	CO
	BL
	PO

	1
	What is the operating principle of reaction turbine?
	2
	CO3
	L1
	9

	2
	Define blade velocity coefficient in impulse turbine.
	2
	CO3
	L1
	9

	3
	Write about Wed Bulb Temperature.
	2
	CO5
	L2
	9

	4
	State the importants of air contioning.
	2
	CO5
	L1
	9

	5
	Define refrigeration and air contioning.
	2
	CO5
	L1
	9


PART- B (4 X 10 = 40 marks)
	Q.NO
	Questions
	Marks
	CO
	BL
	PO

	11. 
	(a). The steam supply to an impulse turbine with a single row of moving blade is 3 kg/s. the turbine develops 150 KW, the blade velocity is being 150m/s. the steam flows from a nozzle with a velocity of 450 m/s and the coefficient of velocity of blade is 0.95. Find the nozzle angle, blade angle at entry and exit if the steam flows axially after passing over the blades.
	10
	CO3
	L4
	2

	
	Or
	
	
	
	

	
	(b). The velocity of steam leaving the nozzle of an impulse turbine is 900 m/s and the nozzle angle is 300.  The blade velocity is 360 m/s and the blade velocity of coefficient is 0.84. assuming no of losses due to shock at inlet calculate for a mass flow of 1.5 kg/s and symmetrical blading  (a) blade inlet angle (b) driving force on the wheel (c) axial thrust on the wheel and (d) power developed by the turbine.
	10
	CO3
	L4
	2

	12.
	(a). The blade speed of a single ring impulse blading is 300 m/s and nozzle angle is 200. The heat drop is 625 KJ/kg and nozzle efficiency is 0.85. The blade discharge angle 300 and the machine develops 30 KW, when consuming 300 kg of steam per hour. Draw the velocity diagram and calculate the: 1) axial thrust on the blading and 2) heat equivalent per kg of steam friction of the blading.
	10
	CO3

	L4
	2

	
	Or
	
	
	
	

	
	(b). Steam enters the row of blades with a velocity of 320 m/s at an angle is of 270 with the direction of motion of moving blades. The velocity of steam passing over the blades is reduced by 12%. If the blade speed is 210 m/s, find the suitable inlet and outlet blade angle assuming that there is no thrust on blades. Also determine the power developed by the turbine per kg of steam flowing over the blades per second.
	10
	CO3
	L1
	9

	13.
	(a). Air conditioning plant is required to supply 50 m3 of air per minute at a DBT of 22 0c and 50% RH. The atmospheric condition is 320c with 65% RH. Determine the mass of moisture removed and capacity of cooling coil if the required is obtained by dehumidification and sensible cooling process. Also calculate the sensible heat factor.
	10
	CO5
	L2
	2

	
	Or
	
	
	
	

	
	(b). Explain the winter and summer type AC with neat diagram.

	10
	CO5
	L2
	2

	14.
	(a).  Sketch and explain the vapour compression refrigeration system. 
	10
	CO5
	L1
	9

	
	Or
	
	
	
	

	
	(b). Sketch and explain the Lithium Bromide water absorption system.
	10
	CO5
	L1
	9


	BT LEVEL
	CO1
	CO2
	CO3
	CO4
	CO5
	CO6
	% 

	Remember
	Q. Nos
	
	
	1,2,
	
	4,5,
14a,14b
	
	31.11

	
	Marks
	
	
	4
	
	24
	
	

	Understand
	Q. Nos
	
	
	
	
	3,13b
	
	13.33

	
	Marks
	
	
	
	
	12
	
	

	Applying
	Q. Nos
	
	
	12a
	
	13a
	
	22.22

	
	Marks
	
	
	10
	
	10
	
	

	Analysing
	Q. Nos
	
	
	11a,11b,
12b
	
	
	
	33.33

	
	Marks
	
	
	30
	
	
	
	

	Total
	
	
	
	
	
	
	100
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